Wednesday 13.05.2020
Fluent in Five
1. 823 + 1,991 = 
2. 642 – 287 = 
3. 48 x 6 =
4. 29 x 9 = 
5. 84 ÷ 3 =
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
Maths Task
Today we will be recapping dividing by 1. Dividing a number by 1 means sharing it between just one group. For example, if I have 12 apples and I share them between 1 friend, the friend will get 12 apples.
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Challenge 2

Use <, > or = to complete the following:

Draw an image for each one to show that
you are correct,
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Challenge 1

Use counters (or anything in your house that could act
as counters such as pasta, Lego efc.) to help you with
these questions.

4 counters shared between 4 hands +
4 counters shared between 1 hand

* 9 counters grouped in Ts

* 9 counters grouped in 95 s =





image3.png
Challenge 3

Mo says,
25 divided by 1is
equalto 1 divided by
©° 2

Do you agree?

Explain your answer.
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Draw a bar model for each question to help you work out the
answer.

+ Tommy baked 7 cookies and shared them equally between his
7 friends. How many cookies did each friend receive?

*  There are 5 sweets. Children line up and take 5 sweets at a
time. How many children have 5 sweets?




